
 

Éfgwencrypted
by the cipher

in the puzzle below Your task

1Solve the puzzle it's vague on purpose
2 Determine the cipher
this cipher is such that

everyword can be encrypted
but multiple wordsmay for you to fill in
encrypt to the same thing G A Y N Y

3 Decrypt the message below B A 0 R

and determine the blank C u P s

youmay googleherebut shouldn't D S Q U

need to E U R e

UC TIS SYC Y CUCOUCy F E S C

f
PRIMELSA IS AND HAS A SISTER G I T O
either of the red words can go H S U B
here andnotethey are also encrypted 1 U V M

I G U A N A B U Z Z J A W N
S A V V Y A B H O R K N X I
H Y M N A M I D S T L 1 Y E
E X I S T B L V F F M B Z Z

U N K N O W N I V Y

Q U E U E S C R u m

C R Y H I C C U P S
PRIM S C U B A J U I C Y ELSA


